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PART-A

Instructions: ). Answer the following questons. 8X1=8

2. Lach question carries ONE mark.

Where are hollow shaflts usea?

List out the belt materizls commonly used in belt drivn? ]
Write the equation for zoimerfald mumkcr. g
Define Durability.

What is the range of I/d ratio is customary to adopt?

\What is the purpose of lubrication in bearings?
Write the types of Followers.

Define stroke of the follower.
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Instructions: 1. Answer the following questions. 4X3=12
2, Each question carries THREE marks.
List the factors for selection of materials in product deslgn"
e, e OR= e
. Page No, 1

https://www.sbtetonline.com



"IEE:(‘ ' '-' ....... B
:,‘q Classity tho liding dojitict hoarings.

Writo the standard proportions of Rectangulor Key and Squnro"Kuﬂ

veees QR ooee
10M).  Dofing the terma rolated to cam: a}Out stroko b)Return Stroke c)Dwell d)OfT-
sot
().  AJournal hoaring whoso diameter s 200 mm ls subjected to a load of 50 kN,
and tho shoft makes 100 rpm. Pind tho heat gonorated if coofficiont of
friction Is 0.0%,
eeeee OR ~—--
#pe 11(b).  What aro the standnrd:plmparuons adopted for simplo journal bearing?
R O IR
12().  What aro the pararicters required for the construction of Cati profilo 7
w— OR —
12(b).  Classlfy the followers based on the shape of the surface in contact with the
cam, :
S0 B paART.C oy
Instructions: 1. Answer the following questions. - 4X5=20

2. Each question carries FIVE marks.

Y (13(a). ) In asteam engine the maximum pressure is 1 N/mm? absolute and the back
pressure is 0.015 N/mm? absolute. The cylinder diamter i5 300 mm.

Determine the diameter of the strewed end of the piston rod when the
vy allowable stress E,ﬁ?utjffnm’ in tension. https://www.sbtetonline.com
i wEV D OP = wd 4R

13(b).  Explain the constuction and working of Bushed bearing with neat sketch.

'14(53. What shear stress Is Induced in 3 square key of 12 mm side and 7 mm long,

placed in a 50 mm diameter staft, if 15 KW power is transmitted at 290
RPM. \

| . «—OR —
@@ Discuss about Wg terms

{.Pressure angle li.Cam angle iilift or stroke iv.Pitch circle v.Prime circle.

i 15(@). A 150 mm diamotér shaft supporting a load of 10 kn-has 5-speed of 1500
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